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1. ®E%heyfull binary tree €4 % node? (A)##R 2 & £48 (B2 (0241 (D)2 (B)2™1

2. degree k&) Tree H#A n BEH IR > AHFLEHLERFHEOTFHEORE LA SV ECRETHBLEMRETE
M? (DFR—% > R tree tyda MKk mE B)n+1 (Onlk-1)+1 D)nk+1)-1  (E)n*'-1

3. HIFEE =TT leaf node 9B A > F 1 B-FEH B node A m: £ 2EFH g node A ne o M oo nio
e FFEA? (ADR—Z > & tree HEEBEBHE B)ne=net] (One=noetni (D)ne=2n:  (E)ne=notmi~1

4~8 #8. Knuth-Morris-Pratt Algorithm & — 2 % & string matching S E %> & T & X4 T= 5051 52 =S F 3 F F % pattern
DP=popip2 - Pn1 BB E » AR T —18 failure function f 4=F :

1 otherwise.

4. % p=abcabcacab> f(3)=? (A)-1 (B)0 (O)1 (D)2 (E)3

5. A4 f(5)=2 (A)-1 (B0 (O (D)2 (E)3

6. A& 4 f(7)=2 (H)-1 (B0 (O)1 (D)2 (E)3

T BFWHET > AXRLHEFE sy 50 =ppr.p B si Zp B EEAT—HOWLHIR EvE) < 085K 5 F
Dri-1)+1 EFHIELLE 0 j = 08ld swmfe pEFHE L o 2 T=abcabcabcab--- » {2 % — 85t ¥ T 48 4 57 055504 b 348
#(b#c) FHT—EAFTLBRHE L s pty x=2 (A5 (B)6 (O)7 (D)8 (E)9

8. AR T y=2 (M0 (B)1 (O)2 (D)3 (E)4

) {largestk suchthat k< j and  pyp...p, = P, Pj 4P, ifsuchak>0 exists
)=

9. #rFl(queue) & (Db ha&gr G hidas# Oftkuss OB EHE B EBMGLEH -

10~14 8. A & —184 byte machine Loy —my) s BERATEMA 240 o Al4][2] e e e a4 1980 5 A[2][3]&9 %
TERE Ak & 1988 -

10. A BoleeBE B4 A e F X4 (Drow-najor (B)column-major (C)diagonal-major (D)reverse-order (E)Z& K&
&k 3y

11, A®3lE % row? (A)5 (B)6 (C)7 (D)8 (E)EMAR R &% H| &

12. A®3]% % colum? (A)5 (B)6 (C)7 (D)8 (E) &3 A B & ik F| b7

13. AmslfEseiags ¥ eytess (B ALOI[0]) /e A2 (A)1938 (B)1948 (C)1958 (D)1968 (B) % 3K & 4o sk H

14. A[3][8]ey4zak 2 (A) 1960 (B) 1986 (C)2048 (D)2050 (E)% 4 & & % H| BF

15, #A(nfi)EF XBHAKF (postlix) BEX BB X T A A e R M4 B &4 2 (L)% £ (Stack)(B) # 71
(Queue)(C)#aKTree)(D)iﬁ%(Heap)(EVFQE@(Network)

. %/ (postfix) BE XY REREE FATER ) KB4 T @482 (A) 3 & (Stack) (B) 87 7] (Queue) (C)# (Tree) (D) 4%
(Heap)(E)ﬁEJE%(Network)

17. 3] = u#t(threaded binary tree) & #| A k& A &9 F o X a2 & Mfr(child link field)# %3] 4 » AT 28 3¢
(tree traversal) i B A FE A stack ¥ R A ER AL TN LB @B T % R? (Apre-order (B)in-order
(c)post-order (D)level-order (E)breath first-order :

18. TF4T4 R 2 4% & (stable) 3k &% (A) &8 3k A% (bubble scrt) (B)3EAHEA % (insertion sort)(C) 4k 3k 5 = (quick
sort)(D)&-#f 8k 7% (merge sort)(E)iE4EHE 5 % (Selection sort)

19. FHIBEFE B R P ERARERL 0(nlog D(Aheap sort(B)#E AHk A i (insertion sort)(C) Bk # 5% |
(quick sort)(D)&-# 35 i (merge sort)(E) A k#3454 O(nlog ™)
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20~23 7. B H B4 T

20. £ B (Graph) ¥ » F 3474 % articulation point? (A)1 (B)4 (C)6 (D)8 (E)9

21. stEI# A %48 articulation point? (A)1 (B)4 (C)6 (D)8 (E)9

22. SbI8 A %48 bi-connected component? (A)1 (B)4 (C)6 (D)8 (E)9

23. ¥ F articulation point 89/EE A P e AR FEEHR? (A)EERE 444 F(depth first search) (B)EEE 4

1 #F (breath first search) (C) =43 % (binary search) (D)#& %44 & (sequential search) (E)Ei#4¢ % (random
search)

24. Kruskal & Prim & B % KA &/ 4 s #t (ninimum cost spanning tree) & B #1748 3% & 7% 8 % % 2(A)Greedy
(B)Dynamic programming (C)Divide and conquer (D)Monte Carlo (E)Deep learning

20. f& KA #4% (shortest path)#y Bellman and Ford Algorithm £ /B #4855 &% 69 £%2(A)Greedy (B)Dynamic
programming (C)Divide and conquer (D)Monte Carlo (E)Deep learning



